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L4a e s (b ,b )
Y §
B
(m/m) i1/72
# ' ' a
WAy R = (m,,...,m ) UNULINLAATIANANUNANTIATIIUDAN

e

argnAauAy (Order Statistics)

< ' I's ' .., a
A1779n 1 udaomﬁuﬂwann (aﬂ_“l) FMTUNIINATAN W 2R9IN1TUINUINING

7m7u 0 inany 10

i A\
1 0.5739
2 0.3291
3 0.2141
4 0.1224
5 0.0399




< ' 4 - ;
A11197 2 udaeAdulazAng (a__,,,) dmiun1anadau W 2a9n17uanu3ving

gm%u o tn1iiu 30

i T i , Tpry
1 0.4254 9 0.1036
2 10.2944 10 0.0862
3 0.2487 11 0.0697
4 0.2148 12 © 0.0537
5 0.1870 13 0.0381
6 " 0.1630 14 0.0227
7 0.1415 15 0.0076
8 0.1219
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A17790 3 udavArdnlTsAng (a__

fMFu 0 1naiu 50

1

,,) @miuntinaday

¥ 389n17u3nu3ving

i B i RN
1 0.3751 14 0.08486
2 0.2574 15 0.0764
3 0.2260 16 0.0685
4 0.2032 27 0.0608
5 0.1847 18 0.0532
8 0.1691 19 .0.0459
/4 0.1554 20 0.03886
8 0.1420 121 0.0314
9 0.1317 22 0.0244
10 0.1212 23 0.0174
11 0.1113 24 0.0104
12 0.1020 25 0.0035 "
13‘ 0.0932
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4 5 g
a1779N 4 uday Percentage point aavn1Tnaday W a7Mm7U n = 10,30 uar 50

Jrauiadfn
n
0.01 0.02 0.05 0.10 0.05 0.90 0.95 0.98 0.99
10 .781 .806 .842 .B869 .938 .972 .978 .983 .986
30 .900- ' .912. .927 .4939 ,..967 .983 .985° .988 .900
50 .930 .938 .947 .955  .974 .985 .988 .990 .991

4 y T
A1719Nn 5 uday Percentage Point mavn1Tnedau W a7 n = 100

JEaUlasgIAn

OVBANUEDH0SI IN 10/.C10 0.50

100 0.968 0.976 0.981 0.990




A17190 6 udAvA1 b Taz b

= _a’  1ffiuswianay o = 100
(m?*’*

k b k b k b k b

1 0.2543 14 0.1115 27 0.0635 39 0.0296
2 0.2178 15 0.1070 28 0.0605 40 0.0269
3 0.1974 16 0.1026 29 0.0575 41 0.0243
4 0.1827 17 0.0985 30 0.0545 42 0.0217
5 b.1711 18 0.0945 31 0.05186 43 0.0191
6 0.1613 19 0.0907 32 0.0487 44 0.0181
7 0.1529 20 0.0869 33 0.0459 45 0.0166
8 0.1454 21 0.0833 34 0.0431 46 0.0140
9 0.1386 22 0.0798 35 0.0404 47 0.0114
10 0.1324 23 0.07684 38 0.0376 48 0.0089
11 0.1267 24 0.0731 37 0.0349 49 0.0038
12 0.1213 25 0.0698 38 0.0322 50 0.0013
13 0.11863 26 0.0666
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----------------------------------------------------------

223 MAIN1 $22
:::  FOR : NORMAL & CONTAMINATED NORMAL DISTRIBUTION :::

----------------------------------------------------------
----------------------------------------------------------

DOUBLE PRECISION A,S,B,X,B2,B1
COMMON /REGRS/A(11,11),S(12,12)/VARIAB/N,M, M2
/CONTA/P, IC/INTERV/XBAR1(11),SG(11)
/DATAXY/X(12,150) /SEED/IX/SELECT /KK
/DIST/I11/RIDMSE/TRVAB(1)/BNAIN/B1A(11)
/COEFF/B(11) /EIGEN/ALAMP (5)
/PX/F(5,5) /RCOEFF/BRCHA (6)
/UYY/OYY, SSN :
/CON/C, SS, TOT, TRACE, BBRID, TSEB, TSEBR
/SUMDB/SQDIFB(6)
/RINIT/ALP1,ALP2
/SDRID/TMEAN(6) , SSBRID(6)

DIMENSION B2(11),B1(11),T(150),MSE(5),TX(5,5),A2(150),VB(5,5)
BRID(5,1),VA(5,5),5SB(6),VV(5,5),ZA(5,5),Q4(5,5),ZK(5,5),
XP(6,100),QQ(6,100),TS(5,1),W(5,5),VAZ(5,5),
BCHA(8),CK(100), SMSER(100),SDK(100),

SQHKB(6), TBHKB(6),SQLEE(6),TBLEE(6) ,TSQMCG (6, 100) , SQMCG(6),
TBMCG(6) ,CMSEH(6) , CHSEL(6), CMSEM(6) , SBRCHA (6, 100) , BRMCG(6)

READ(1,15)N, M

FORMAT(13,12)

1 G

READ(1,25)XBAR1(I),SG(I)

FORMAT (2F7.4)

READ(1,30) II

FORMAT(I1)
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IMK

DO 87 IMK=1,3

= 0.0

GOTO (7,8,9),IMK

---------------------------------------------------
...................................................

ALP1
ALP2
GOTO
ALP1
ALP2
GOTO
ALP1
ALP2

1. PART I

YOU HAVE 2 CHOICES

=> FOR 3 INDEPENDENT VARIABLES ::

2. PART II =) FOR 5 INDEPENDENT VARIABLES =:

IF YOU SELECT PART I

=> PUT C IN PART II s

IF YOU SELECT PART II => PUT C IN PART I e

---------------------------------------------------
---------------------------------------------------

PART I

0.99
0.00
188

0.90
0.00
188

= 0.70
= 0.00

3 INDEPENDENT VARIABLES (8 LINES) ==

ooooooooooooooooooooooooooooooooooooooooooooooooooooo

ALP1
ALP2
GOTO
ALP1
ALP2
GOTO
ALP1
ALP2

: 5 INDEPENDENT VARIABLES

(8 LINES)

ooooooooooooooooooooooooooooooooooooooooooooooooooooo
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183" M2 =M +:.1

IX = 973253
KK = 0
K = INT(FLOAT(N/2))

MIX =M +1

DO 1930 I=1,MIX
TBHKB(I) = 0.0
TBLEE(I) 0.0
TBMCG(I) = 0.0
CMSEH(I) = 0.0
CMSEL(I) = 0.0
CMSEM(I) = 0.0
SQHKB(I) = 0.0
SQLEE(I) = 0.0
SQMCG(I) = 0.0
DO 1930 J=1,100

1930 TSQMCG(I,J) = 0.0

SANZH
SSAMZH
SAMZL

SSAMZL
SAMZHM 0.0
SSAMZHM = 0.0
IKH = 0.0

IXL
IIM =
SIHL =
SS1HL =
S2HL =
SS2HL =
S1HM =
SS1HM =
S2HM =
SS2HM =

0] 1l ] 1
o o o <=
. . . .

[em] (= o o

1]
o

|
o
. .
S ¥ D+ Dy, O DY e O R O D
. . . . .

.

. .
S A 8 SN DN LED
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S1FLH =~ =040
SS1FLH = 0.0
S2FLH = 0.0
SS2FLH = 0.0
S1FLM = 0.0
SS1FLM = 0.0
S2FLM = 0.0
SS2FLM = 0.0
S1FMMH
D1FMMH
S2FMMH
D2FMMH
S1FMML
D1FMML
S2FMML
D2FMML
S10LS =
SSOLS =
ATH =
ATTH =
ATL =

| ] 1] I 1]
O HO L QWD O
. . . . .

(<= St <= (g <o YRR o= S == |

1] "
.
o o o

.
o SRR = SR - S > R -~ TSl S < Bl == | - LR (-~ L
. .

(=T W Y < SR I - T .
5 o . . . . :

WRITE(3,26) N,M

26 FORHAT(IDX,’NO. OF OBSERVATION = ’,I3,2X,’NO. OF VARIABLE = ’,12)
GoTO (¢10,10,40,50),1I1

10 WRITE(3,8333)

8333 FORMAT(2X,” ERROR : PLEASE RUN MAIN 1 ”)

STOP

40 WRITE(3,41)

41 FORMAT(30X,’#% BETA FROM CONTAMINATE NORMAL DISTIBUTION #%¥’)
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IC = 10
40 WRITE(3,42)IC,P
42 FORMAT(/30X,’ WITH C = ’,12,” % P= °,F4.2)
GOTO 105
50 WRITE(3,1151)
1151 FORMAT (10X, "#¥k¥*k¥k NORMAL DISTIBUTION sk¥dk*k*’)

-----------------------------------------------------
-----------------------------------------------------

105 DO 130 I=1,JJ
CALL INIT
CALL DATA

TRACE = 0.0
DO 291 IK=1,NM
DO 291 JK=1,M
IF(IK-JK)291, 290,291
290 TRACE = TRACE + A(IK,JK)
291 CONTINUE
DO 633 IB=1,M2
DO 633 IE=1,N
XP(IB, IE)=XX(IB, IE)
633 CONTINUE
M= M2
CALL CORR(XP,M,N,QQ,SSB)
DO 644 IB=1,M2 '
DO 644 IE=1,M2
X(IB,IE) = QQ(IB,IE)
644 CONTINUE
DO 645 IB=1,N
645 SSBRID(IB) = SSB(IB)
M= M2 -1
120 CALL OLS(B1,TOT)
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DO 8188 IU=1,M
8188 BCHA(IU) = B1(IU)¥(SSB(MIX)/SSB(IU))
TAFOLS = 0.0
DO 3216 IU=1,M
3216 TAFOLS = TAFOLS + BCHA(IU)¥TMEAN(IU)
: BCHA(MIX) = TMEAN(MIX) - TAFOLS
AOLS = 0.0
DO 9771 IH=1,MIX
9771 AOLS = AOLS + (BCHA(IH) - B(IH))*¥(BCHA(IH) - B(IH))
AOLS = AOLS/MIX
S10LS = S10LS + AOLS
SSOLS = SSOLS + AOLS¥AOLS

0SS = 0.0

SEB = 0.0

DO 355 IT=1,M

B1A(IT) = B1(IT)

BB = BB + B1(IT)¥B1(IT)
355 TSBL = TSBL + B1(IT)*S(M2,IT)
i SS = (TOT - TSBL)/({(N-M-1)

OTSBL = OTSBL + OYY¥TSBL

0SS = 0SS + OYY*SS

CHKB = (M%SS)/BB

CLEE = ALAMP(M)

SEB = SEB +SS*TRACE

AM2H = 0.0
DO 9001 IH=1,MIX
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SQHKB(IH) = 0.0
AM2H = AM2H + (BRCHA(IH) - B(IH))%(BRCHA(IH) - B(IH))
9001 SQHKB(IH) = SQDIFB(IH)

AM2H = AM2H/MIX
SAM2H = SAMZ2H + AM2H
SSAMZH = SSAMZ2H + AMZH#AM2H

B e e e ——

DO 9002 IH=1,MIX
9002 TBHKB(IH) = TBHKB(IH) + SQHKB(IH)

AM2L = 0.0

DO 9020 IH=1,MIX

SQLEE(IH) = 0.0

AM2L = AM2L + (BRCHA(IH)-B(IH))%(BRCHA(IH)-B(IH))
9020 SQLEE(IH) = SQDIFB(IH)

AM2L AM2L/MIX

SAM2L = SAM2L + AM2L

SSAM2L = SSAM2L + AM2L*AM2L

L]

———————— - ———— o~ ————

DO 9021 IH=1,MIX

9021 TBLEE(IH) = TBLEE(IH) + SQLEE(IH)
C=20.0
BBOLS = BB - SS¥TRACE

—————————————————————— - ————————————————————————————

IF(BBOLS .GT. 0) GOTO 505

C=20.0
CALL RID
DO 9050 IH=1,MIX
BRMCG(IH) = BRCHA(IH)
SQMCG(IH) = 0.0

9050 SQMCG(IH) = SQDIFB(IH)
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505

9070

1998
1888

900
2888

9080

413

GOTO 413

DO 1999 IMC=1,100
ILOOP = INMC

C=2C %0.01
CK(INC) = C

DELTA = 0.001
CALL RID

DO 9070 IH=1,MIX
SBRCHA(IH, IMC)
TSQMCG(IH, IMC)

]

BRCHA(IH)
SQDIFB(IH)

DK = ABS(BBOLS - BBRID)
SDK(IMC) = DK

IF (DK.LE.DELTA) GOTO 1888
CONTINUE

DMIN = SDK(1)

DO 2888 KM=2,ILOOP

IF (SDK(KM) .GE. DMIN) GOTO 900

DMIN = SDK(KM)
IXKM = KM
IIKM = IKM
IXM = IIKM
CONTINUE

DO 9088 IH=1,MIX

BRMCG(IH) = 0.0

SQMCG(IH) = 0.0

BRMCG(IH) = SBRCHA(IH,IKM)
SQMCG(IH) = TSQMCG(IH,IKM)
AM2M = 0.0

DO 9081 IH=1,MIX

AM2M = AM2M + (BRMCG(IH)-B(IH))*(BRMCG(IH)-B(IH))
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9081 TBMCG(IH) = TBMCG(IH) + SQMCG(IH)
AM2M = AMZM/MNIX
SAMZNM SAMZM + AM2M
SSAMZM = SSAMZM + AM2M#¥AMZ2M

IF (AM2H .LE. AM2L .AND. AMZ2H .LE. AMZ2M) GOTO 31
IF (AM2L .LE. AM2H .AND. AM2L .LE. AMZM) GOTO 32
IF (AM2M .LE. AM2H .AND. AMZ2M .LE. AM2L) GOTO 33

31 FMSEHL = AM2H/AM2ZL :
DIFFHL = AM2L/AM2H - 1
IKH = IKH + 1
ATH = ATH + AM2H
ATTH = ATTH + AM2H¥AM2H
S1HL = S1HL + FMSEHL
SS1HL = SS1HL + FMSEHL*FMSEHL
S2HL = S2HL + DIFFHL
SS2HL = SS2HL + DIFFHL#DIFFHL
FMSEHM = AM2H/AN2M
DIFFHM = AM2M/AM2H - 1
S1HM = S1HM + FMSEHM
SS1HM = SS1HM + FMSEHM¥FMSEHM
S2HM = S2HM + DIFFHM
SS2HM = SS2HM + DIFFHM#DIFFHM
GOTO 130
32 FLH = AM2L/AM2H
DLH = AM2H/AMZL - 1
ATL = ATL + AM2L
ATTL = ATTL + AM2L¥AMZL

IKL = IKL + 1
S1FLH

= S1FLH + FLH
SS1FLH = SS1FLH + FLH¥FFLH
S2FLH = S2FLH + DLH
SS2FLH = SS2FLH + DLH¥DLH
FLM = AM2L/AM2M
DLM = AM2M/AM2L - 1



33

130

S1FLM = S1FLM + FLM
SS1FLM = SS1HM + FLM¥FLM
S2FLM = S2FLM + DLM
SS2FLM = SS2FLM + DLM¥DLM
GOTO 130

FMMH = AM2M/AM2H

DMMH = AM2H/AM2M - 1

ATM = ATM + AMZM

ATTM = ATTM + AM2M¥AM2M

IIM = TIM + 1

S1FMMH = S1FMMH + FMMH
DI1FMMH = D1FMMH + FMMH¥FMMH
SZFMMH = S2MMH + DMHH
DZMMH = D2MMH + DMMH¥DMMH
FMML = AM2M/AM2L

DMML = AM2L/AM2M - 1

S1FMML = S1FMML + FMML
DI1FMML = DIMML + FMML¥FMML
SZ2FMML = S2FMML + DMML
DZ2FMML = D2MML + DMML%DMML
CONTINUE

IF (IKH .EQ. 0 .OR. (IKH-1) .EQ. 0 )GOTO 47
AX1 = S1HL/FLOAT(IKH)

SD1 = SQRT((SS1HL - (S1HL#AX1))/FLOAT(IKH-1))
CV1 = SD1/AX1.

AX1M = S1HM/FLOAT (IKH)

SD1M = SQRT((SS1HM - (S1HM¥AX1M))/FLOAT(IKH-1))
CVIM = SD1M/AX1N

AX2 = S2HL/FLOAT(IKH)

SD2 = SQRT((SS1HL - (S2HL*¥AY2))/FLOAT(IKH-1))
CvV2 = SD2/AX2

AX2M = S2HM/FLOAT(IKH)

SD2M = SQRT((SS2HM - (S2HM¥AX2M))/FLOAT(IKH-1))
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47

48

1553

1122
61
51
49

171

CVZM = SD2M/AX2M
IF(IKL .EQ. 0 .OR. (IKL-1) .EQ. 0 ) GOTO 48

AX3 = S1FLH/FLOAT(IKL)
SD3 = SQRT((SS1FLH - (SI1FLH#AX3))/FLOAT(IKL-1))
CV3 = SD3/AX3
AX3M = S1FLM/FLOAT (IKL)
SD3M = SQRT((SSI1FLM - (SI1FLM¥AX3M))/FLOAT(IKL-1))
CV3M = SD3M/AX3M
AX4 = S2FLH/FLOAT (IKL)
SD4 = SQRT((SS2FLH - (S2FLH¥AX4))/FLOAT(IKL-1))
CV4 = SD4/AX4
AX4M = S2FLM/FLOAT(IKL)
SD4M = SQRT((SSZFLM - (S2FLM¥AX4M))/FLOAT(IKL-1))
CVAM = SDAM/AX4M
IF(IIM .EQ. 0 OR .(IIM-1) .EQ. 0 ) GOTO 49
AX5 = SI1FMMH/FLOAT(IIM) '
SD5 = SQRT((DIFMMH - (S1FMMH¥AX5)) /FLOAT(IIM-1))
CV5 = SD5/AX5
AX5L = S1FMML/FLOAT(IIM)
SD5L = SQRT((DIFMML - (S1FMML#AX5L))/FLOAT(IIM-1))
CV5M = SD5L/AXSL
AX8 = S2FMMH/FLOAT(IIM)
SD6 = SQRT((D2FMMH - (S2FMMH¥AX6))/FLOAT(IIM-1))
CV6 = SD6/AX6
AXBL = S2FMML/FLOAT(IIM)
SDBL = SQRT((D2FMML - (S2FMML¥AX6L))/FLOAT(IIM-1))
CVBM = SD6L/AXSL
WRITE(3,1553) ALP1,ALP2
FORMAT (10X, ’:2:::7,F5.2,7,°,F5.2,7z322:2:7)
IF (11, .EQs 1) GbT0 61
WRITE(3,1122) SSN
FORMAT (22X, SIGMA-SQ = ’,F5.2)
WRITE(2,51)
FORMAT(’®  ?)

WRITE(3,882)



882 FORMAT(2X,’COMPARE WITH HKB ’ )

880

883

884

881

WRITE(3,880)

FORMAT(2X,” SUM(X) ==> XBAR ==)> SUMMSQ(X) ==> SD

WRITE(3,881)
WRITE(3,881)
WRITE(3,881)
WRITE(3,881)
WRITE(3,51)

WRITE(3,883)
FORMAT ( 2X, °

WRITE(3,880)
WRITE(3,881)
WRITE(3,881)
WRITE(3,881)
WRITE(3,881)
WRITE(3,51)

WRITE(3,884)
FORMAT(2X,’

WRITE(3, 880)
WRITE(3,881)
WRITE(3,881)
WRITE(3,881)
WRITE(3,881)

S1HL, AX1,SS1HL, SD1,IKH,CV1
S2HL, AX2, SS2HL, SD2,IKH,CV2
S1HM, AX1M, SS1HM, SD1M, IKH,CV1M
S2HM, AX2M, SS2HM, SD2M, IKH, CV2M

COMPARE WITH LEE ’)

S1FLH, AX3,SS1FLH, SD23, IKL,CV3
S2FLH, AX4,SS2FLH, SD4, IKL, CV4
S1FLM, AX3M, SS1FLM, SD3M, IKL,CV3M
S2FLM,AX4M, SS2FLM, SD4M, IXL, CV4M

COMPARE WITH MCG *)

S1FMMH, AX5,D1FMMH, SD5, I1M,CV5
S2FMMH, AX6,D2FMHH, SD6, I IM, CV6
S1FMML, AX5L,D1FMML, SD5L, IIM, CV5M
S2FMMH, AX8L, D2FMML, SD6L, I 1M, CVEM

FORMAT(2X,F15.8,2X,F15.6, 2X,F15.6,2X,F15.6,2X,13,2X,F15.6)

AJJ = JJ

== [ == CV ”)

SQRT( (ATTH - (ATH#ATH)) /IKH/(IKH-1))
SQRT( (ATTL - (ATL¥ATL))/IKL/(IKL-1))
SQRT( (ATTM - (ATM¥ATM)) /IKM/(IIM-1))
SDATH/ (ATH/ TKH)

SDATL/ (ATL/TKL)

SDATM/ (ATM/ITM)

WRITE(3,141) SDATH, CVATH

WRITE(3,141) SDATL, CVATL

WRITE(3,141) SDATM,CVATH

R &8 .a;
= < <
P 3
o M G0 il
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141 FORMAT(2X,” SUB-SD = ’,F15.6,2X, SUB-CV =*,F15.6)

XBDHL = (SAM2H - SAM2L)/SQRT (AJJ)

XBDHM = (SAM2H - SAM2M)/SQRT (AJJ)

XBDLM = (SAM2L - SAM2M)/SQRT(AJJ)

XBOLS = S10LS/AJJ

XBDH1 = SAMZH/AJJ

XBDL1 = SAM2L/AJJ

XBDM1 = SAM2M/AJJ

SDOLS = SSOLS - (S10LS#S10LS)/AJJ

SDH1 = SSAM2H - (SAMZH¥SAMZH)/AJJ

SDL1 = SSAM2L - (SAMZL¥SAMZL)/AdJ

SDM1 = SSAM2M - (SAMZMSAM2M) /AJJ

SDO11 = SQRTYSDOLS/AJJ-1)

'SDH11 = SQRT(SDH1/(AJJ-1)

SDL11 = SQRT(SDL1/(AJJ-1)

SDM11 = SQRT (SDM1/(AJI-1)

CVO = SDO11/XBOLS

CVH = SDH11/XBDH1

CVL = SDL11/XBDL1

CVM = SDM11/XBDM1

ZDHL = XBDHL/SQRT((SDH1 + SDL1)/(AJJ-1))
ZDHM = XBDHM/SQRT((SDH1 + SDM1)/(AJJ-1))
ZDLM = XBDLM/SQRT((SDL1 + SDM1)/(AJJ-1))
WRITE(3,51)

WRITE(3,887)

887 FORMAT(2X,” SUM-X , SUMSQ-X ===> HKB,LEE,MCG )
WRITE(3,886) SAM2H, SSAM2H, SAN2L, SSAMAL, SAM2), SSAM2M
WRITE(3,51)

WRITE(3,889)

889 FORMAT(2X,’XBAR ==> OLS,HKB,LEE,MCG AND SD ==> OLS,HKD,LEE, MCG )
WRITE(3,886)XBOLS, XBDH1, XBDL1, XBDH1, SD011, SDH11, SDL11, SDN11
WRITE(3,51)



809

886

73

703

74

704 FORMAT(2X,’LEE=>MIN’,1X,”(H/L)-1 = ’,F10.6,1X,F10.6,

75

WRITE(3,809)

FORMAT (2X,’CV ==> OLS,HKB,LEE,MCG AND ZD ==> HKB,LEE,MCG”)

WRITE(3,886)CV0,CVH,CVL, CVM, ZDHL, ZDHM, ZDLX
FORMAT (2X,7(2X,F15.6))

—-————————————————— - — — —— — ———— —— ———— ——

IF(XBDH1 .LE. XBDL1 .AND. XBDH1 .LE. XBDM1) GOTO 73
IF(XBDL1 .LE. XBDH1 .AND. XBDL1 .LE. XBDM1) GOTO 74
IF(XBDM1 .LE. XBDH1 .AND. XBDM1 .LE. XBDL1) GOTO 75
TAN1 = XBDL1/XBDH1-1
TAN11 = TAN1#100
TAN2 = XBDM1/XBDH1-1
TAN22 = TAN2 % 100
TANA = XBDH1/XBDL1
TANB = XBDH1/XBDM1
WRITE(3,703)TAN1,TAN11,TAN2,TAN22, TANA, TANB
FORMAT (2X, HKB=>MIN’,1X, ’ (L/H) -1 =’,F10.6,1X,F10.6,
¥ 1X,’ (M/H) -1 =’,F10.6,1X,F10.6,2X,’H/L =’,F10.6,2X
¥ ,’H/M =’,F10.6)
GOTO 737
TAN1 = XBDH1/XBDL1 - 1
TAN11 = TAN1%¥100
TAN2 = XBDM1/XBDL1 - 1
TAN22 = TAN2%¥100
TANA = XBDL1/XBDH1
TANB = XBDL1/XBDM1
WRITE(3,704)TAN1,TAN2,TAN22,TANA,TANB

"

* 1X,’(M/L)-1 = ’,F10.6,1X,F10.6,2X,’L/H =’,F10.6,2X
¥ ,’L/M =",F10.6)

GOTO 737

TAN1 = XBDH1/XBDM1 - 1

TAN11 = TAN1%100

TAN2 = XBDL1/XBDM1 - 1

TAN22 = TAN2%100

TANA = XBDM1/XBDH1
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705

737

709

139

8007

9900
1990

TANB = XBDM1/XBDL1
WRITE(3,705)TAN1,TAN11,TAN2, TAN22, TANA, TANB
FORMAT (2X, "MCG=>MIN’,1X,’ (H/M)-1 = ’,F10.6,1X,F10.86,

¥ 1X,°(L/M)-1 = ’,F10.6,1X,F10.6,2X, ’M/H =’,F10.6, 2X
* ,’M/L =?,F10.6)

TANOH1 = XBDH1/XBOLS - 1
TANOL1 = XBDL1/XBOLS - 1
TANOM1 = XBDM1/XBOLS - 1
TOH = XBOLS/XBDH1
TOL = XBOLS/XBDL1
TOM = XBOLS/XBDM1

WRITE(3,709)TANOH1,TANOL1, TANOM1,TOH, TOL, TOM
FORMAT (2X,’H/0-1 L/0-1 M/0-1 ==>7,3(2X,FB8.4),2X,

¥ 0/H O/L O/M ==>’,3(2X,F8.4))

AJJ = JJ

WRITE(3,8007)AJJ

FORMAT (2X,F4.0,2X, >ITERATION?, /2Y,4X, " ~==c-uoa- )
DO 9900 IH=1,MIX

CMSEH(IH) = TBHKB(IH)/AJJ

CMSEL(IH) = TBLEE(IH)/AJJ

CMSEM(IH) = TBMCG(IH)/AJJ

WRITE(3,1990) CMSEH(IH), CMSEL(IH),CMSEM(IH)

FORMAT (2X, ’CMSEH=",F15.6, 2X, *CMSEL=",F15.86, 2X, *CMSEM=",F15.86)

EMSEH = 0.0
EMSEL = 0.0
EMSEN = 0.0
. TMSEH = 0.0
TMSEL = 0.0
TMSEM = 0.0

9901

DO 9901 IH=1,MIX

TMSEH = TMSEH + CMSEH(IH)
TMSEL = TMSEL + CMSEL(IH)
TMSEM = TMSEM + CMSEM(IH)

EMSEH = TMSEH/MIX
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EMSEL = TMSEL/MIX
EMSEM = TMSEM/MIX
WRITE(3,8850)

WRITE(3,8050) EMSEH, ENSEL , EMSEN
8050 FORMAT(2X,’MSE(HKB) =’,F15.6,2X, MSE(LEE) =’,F15.6,2X, *MSE(MCG)="
% ,F15.6)
WRITE(3,8850)
RHL = (TMSEL/TMSEH)#¥100
RHM = (TMSEM/TMSEH)*100
RLM = (TMSEM/TMSEL)%100

ABRHL = ABS((TMSEH - TMSEL)/TMSEL)
ABRHM = ABS((TMSEH - TMSEM)/TMSEM)
ABRLM = ABS((TMSEL - TMSEM)/TMSEN)
WRITE(3,8850)

8850 FORMAT (X, 75— -sugl sl L/l 2 S e M= o5 e it i i ’)
WRITE(3,9350) RHL :

9350 FORMAT (10X, ’ (MSEL/MSEH)X100 = ’,F15.6)
WRITE(3, 3450) RHN

3450 FORMAT(10X,’ (MSEM/MSEH)X100 = ’,F15.6)
WRITE(3,9550)RLM

9550 FORMAT (10X, ’ (MSEM/MSEL)X100 = °,F15.6)
WRITE(3,8850)
WRITE(3,9251)ABRHL

9251 FORMAT(10X,’!(H-L)/L! = ’,F15.6)
WRITE(3,9351) ABRHM

9351 FORMAT(10X,’! (H-M)/M! = *,F15.8)
WRITE(3,9451) ABRLM

9451 FORMAT(10X,’!(L-M)/M! = ’,F15.6)

87 CONTINUE

STOP

END
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DOUBLE PRECISION 4,S,B,X,B2,B1,X1,BC,FL,T,A2,SW,Y1,BMEST
COMMON /REGRS/A(11,11),S(12,12)
/CONTA/P, I1C/INTERV/XBAR1(11),5G(11)
/DATAXY/X(12,150) /SEED/IX/SELECT/KK
/DIST/I1I
/COEFF/B(11) /EIGEN/ALAMP(5)
/PX/F(5,5)
/UYY/OYY, SSN
/CON/C, SS, TOT, TRACE, BBRID
/SUMDB/SQDIFB(6)
/RINIT/ALP1,ALP2
/SDRID/TMEAN(6) , SSBRID (8)
/SKEWD/ALPHA, BETA
/TABLE/A2(150),SW(9)
/TRANSF/Y1(150) ,FL(3),ST,FIN
/DATXY1/X1(12,150) /RCOEFF/BRCHA(6)
DIMENSION B2(11),B1(11),T(150),MSE(5),TX(5,5),
BRID(5,1),VA(5,5),SSB(6),BC(11),
XP(6,100),QQ(6,100),
BCHA(6),CK(100), SMSER(100),SDK(100),
SQHKB (6) , TBHKB(6) , SQLEE(6) , TBLEE(6) , TSQMCG (6, 100) , SQMCG(6),
TBMCG(S),CMSEH(G),CHSEL(S),QHSEH(B),SBRCHA(B,100),BRHCG(6)
READ(1,15)N, ¥ '

W AR TN LW W W A N R N e

ae A W e W

. 15 FORMAT(I3,I2)

DO 20 T = 1,HM
20 READ(1,25)XBAR1(I)>,SG(I)
25 FORMAT(2F7.4)

READ(1,30) II
30 FORMAT(I1)

K = INT(FLOAT(N/2))

DO 16 I=1,K
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READ(1,17) A2(N-I-1)
FORMAT(F6.4)

DO 2 I=1,4

READ(1,3) SW(I)
FORMAT (F6.3)

IMK = 0.0

DO 87 IMK=1,3
GoTo (7,8,9),IMK

-----------------------------------
ooooooooooooooooooooooooooooooooooo

228 YOU HAVE 2 CHOICES

----------------
----------------

22 1. PART I =)> FOR 3 INDEPENDENT VARIABLES :::
222 2. PART II => FOR 5 INDEPENDENT VARIABLES :::

::: IF YOU SELECT PART I => PUT C IN PART II ER
z:: IF YOU SELECT PART II =) PUT C IN PART I LR

-----------------------------------
-----------------------------------

ooooooooooooooooooooooooooooooooooooooooooooooooooooo

== PART II : 5 INDEPENDENT VARIABLES (8 LINES)

0.99
0.99
GOTO 188

et e
7 R
o A
0
i 1
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8

9

188

1930

oooooooooooooooooooooooooooooooooooooo

ALP1 = 0.99
ALP2 = 0.90
GOTO 188
ALP1 = 0.70
ALP2 = 0.30
M2 =M+ 1
III = 0

F1 = 0.0
FL1 = 0.0
FLL1 = 0.0
IX = 973253
KK = 0

K = INT(FLOAT(N/2))

MIX = M + 1

DO 1930 I=1,MIX

TBHKB(I) = 0.0
TBLEE(I) = 0.0
TBMCG(I) = 0.0
CMSEH(I) = 0.0
CMSEL(I) = 0.0
CMSEM(I) = 0.0
SQHKB(I) = 0.0
SQLEE(I) = 0.0
SQMCG(I) = 0.0

DO 1930 J=1,100

TSQMCG(I,J) =
SAM2H = 0.0
SSAMZH = 0.0
SAM2L = 0.0
SSAM2L = 0.0
SAM2M = 0.0
SSAM2M = 0.0

IKH = 0.0

---------------
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IKL
114
S1HL
SS1HL
S2HL
SS2HL
S1HM
SS1HM
S2HN
SS2HM
S1FLH
SS1FLH
S2FLH
SS2FLH
S1FLM
SS1FLM
S2FLM
SS2FLM
S1FMMH
D1FMMH
S2FMMH
D2FMMH
S1FMML
D1FMML
S2FMML
D2FMHL
S10LS
SSOLS
ATH
ATTH

Qe0:. O O i LS (== TR =
. . . . . . .

(=~ RO ]
.

QLT AEENOS TS WGl 2 0O D
. . . . . . .

O LD TN DD S DD

T b =)
. .
o O

0.0
0.0
0.0
0.0
0.0
0.0
0.0
0.0
0.0
0.0

o
o

o O e

L+~ R = Bl S <= U < SRR - TR < TR == ) Qo O
. . .
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26

10
8333

60
61

80
81

62
105

1000

210

181

WRITE(3,26) N,M
FORMAT (10X, ’NO. OF OBSERVATION = ’,I3,2X,’NO. OF VARIABLE = ’,12)
GOTO (10,10,60,80),11 :

WRITE(3,8333)

FORMAT (2X,” ERROR : PLEASE RUN MAIN 1 )

STOP

WRITE(3,61)

FORMAT (30X, *##¥kk¥%k LOG-NORMAL DISTIBUTION #kkksdkdk’)

GOTO 105

WRITE(3,81)

FORMAT (/30X, * %k WEIBULL DISTIBUTION #kkkksk®)

ALPHA = 2

BETA =1 5

WRITE(3,62) BETA,ALPHA

FORMAT (/230X,’ WITH BETA = ’,F4.1,” & ALPHA = ’,F4.1)

DO 130 I=1,JJ

CALL INIT

CALL DATA

DO 1000 J=1,M2

DO 1000 LK=1,N

f1(J,LK) = X(J,LK)

CALL BOXCOX(BC,FL1)

F1 = F1 + FL1

FLL1 = FLL1 + FL1%FL1
FL1(1) = FL1

CALL BCOX(FL(1),1)

DO 210 J=1,N

0YY = X1(M2,D)*X1(M2,J)
T(J) = X1(M2,0)

CALL SHAPWK(N,T,ITEST)
IF(ITEST .EQ. 2 ) GOTO 220



220

290
291

633

644

645

120

8188

3218

LIE:= TIL: %01

CALL INIT1
Fkokkok FIND TRACE OF X’X INVERSE
TRACE = 0.0

DO 291 IK=1,M

DO 291 JK=1,M
IF(IK-JK)291,290;291
TRACE = TRACE + A(IK,JK)
CONTINUE

DO 633 IB=1,M2

DO 633 IE=1,N
XP(IB,IE)=QQ(IB,IE)
CONTINUE

M =M2

CALL CORR(XP,M,N,QQ,SSB)
DO 644 IB=1,M2

DO 644 IE=1,M2

X(IB,IE) = QQ(IB,IE)
CONTINUE

DO 645 IB=1,N
SSBRID(IB) = SSB(IB)
M=M2 =1

CALL OLS(B1,TOT)

DO 8188 IU=1,M

BCHA(IU) = B1(IU)*(SSB(MIX)/SSB(IU))
TAFOLS = 0.0

DO 2216 IU=1,M

TAFOLS = TAFOLS + BCHA(IU)¥TMEAN(IU)
BCHA(MIX) = TMEAN(MIX) - TAFOLS
AOLS = 0.0

DO 9771 IH=1,MIX
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AOLS + (BCHA(IH) - B(IH))#(BCHA(IH) - B(IH))
AOLS/MIX

S10LS = S10LS + AOLS

SSOLS = SSOLS + AOLS#AOLS

9771 AOLS

=
O
)
7]
"

§ " i R I i i L BB S et Y
BB = 0.0
TSBL = 0.0
OTSBL = 0.0
0SS = 0.0
SEB = 0.0
DO 355 IT=1,M
BB = BB + B1(IT)*B1(IT)

355 TSBL = TSBL + B1(IT)¥S(M2,IT)
SS = (TOT - TSBL)/(N-M-1)
OTSBL = OTSBL + OYY#TSBL
0SS = 0SS + OYY*SS
CHKB = (M#SS)/BB
CLEE = ALAMP(M)

SEB = SEB +SS#TRACE
BBOLS = 0.0

C = CHKB

CALL RID

AM2H = 0.0

DO 9001. TH=1,MIX

SQHKB(IH) = 0.0 .

AMZH = AM2H + (BRCHA(IH) - B(IH))*(BRCHA(IH) - B(IH))
9001 SQHKB(IH) = SQDIFB(IH)

AMZH = AM2H/MIX
SAM2H = SAM2H + AM2H
SSAMZH = SSAM2H + AMZ2H¥AMZ2H

DO 9002 IH=1,MIX
9002 TBHKB(IH) = TBHKB(IH) + SQHKB(IH)



184

AM2L = 0.0

DO 9020 IH=1,MIX

SQLEE(IH) = 0.0

AM2L = AM2L + (BRCHA(IH)-B(IH))*(BRCHA(IH)-B(IH))
9020 SQLEE(IH) = SQDIFB(IH)

AM2L = AM2L/MIX -

SAM2L = SAMZL + AM2L

SSAM2ZL = SSAM2L + AM2L*AMZL

DO 9021 IH=1,MIX
9021 TBLEE(IH) = TBLEE(IH) + SQLEE(IH)

IF(BBOLS .GT. 0) GOTO 505

C =0.0
CALL RID
DO 9050 IH=1,MIX
BRMCG(IH) = BRCHA(IH)
SQMCG(IH) = 0.0

9050 SQMCG(IH) = SQDIFB(IH)
GOTO 413

505 IIKﬂ =1
DO 1999 IMC=1,100
ILOOP = INMC
C s:C 40,01
CK(IMC) = C
DELTA = 0.001
CALL RID



DO 9070 IH=1,MIX
SBRCHA(IH, IMC)
9070 TSQMCG(IH,IMC)

BRCHA(IH)
SQDIFB(IH)

DK = ABS(BBOLS - BBRID)
SDK(IMC) = DK
IF (DK.LE.DELTA) GOTO 1888
1999 CONTINUE
1888 DMIN = SDK(1)
DO 2888 KM=2,ILOOP
IF (SDK(KM) .GE. DMIN) GOTO 900

DMIN = SDK(KM)
IKM = KM
IIKM = IEKM

900 IKM = IIKM
2888 CONTINUE

(p R R G0 S R/ B @GNNSR o A i
DO 9088 IH=1,MIX
BRMCG(IH) = 0.0
SQMCG(IH) = 0.0
BRMCG(IH) = SBRCHA(IH,IKM)
9080 SQMCG(IH) = TSQMCG(IH,IKM)
C 52 e el e m e = AT RIOE QLIRS O L

413 AM2M = 0.0
DO 9081 IH=1,MIX
AMZM = AMZM + (BRMCG(IH)-B(IH))*(BRMCG(IH)-B(IH))
9081 TBMCG(IH) = TBMCG(IH) + SQMCG(IH)
AMZM = AMZM/MIX
SAMZNM = SAM2M + AM2M
SSAHZH SSAMZM + AMZM¥AMZM

IF (AM2H .LE. AM2L .AND. AM2H .LE. AM2M) GOTO 31

IF (AM2L .LE. AM2H .AND. AM2L .LE. AM2M) GOTO 32

IF (AM2M .LE. AM2H .AND. AM2M .LE. AM2L) GOTO 33
31 FMSEHL = AMZ2H/AM2L
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32

33

186

DIFFHL = AM2L/AMZ2H - 1
IXH = IKH + 1

ATH = ATH + AM2H
ATTH = ATTH + AM2H¥AM2H

S1HL = S1HL + FMSEHL

SS1HL = SS1HL + FMSEHL¥FMSEHL
S2HL = S2HL + DIFFHL

SS2HL = SS2HL + DIFFHL¥DIFFHL
FMSEHM = AMZH/AM2M

DIFFHM = AM2M/AM2H - 1

S1HM = S1HM + FMSEHM

'SS1HM = SS1HM + FMSEHM#FMSEHM
S2HM = S2HM + DIFFHM

SS2HM = SS2HM + DIFFHM¥DIFFHM
GOTO 130

FLH = AM2L/AM2H

DLH = AM2H/AM2L - 1

ATL = ATL + AM2L

ATTL = ATTL + AM2L*AM2L

IXL = IKL + 1

SIFLH = SIFLH + FLH
SS1FLH = SSIFLH + FLH¥FFLH
S2FLH = S2FLH + DLH
SS2FLH = SS2FLH + DLH¥DLH
FLM = AM2L/ANM2M

DLM = AM2M/AMZL - 1

SIFLM = SIFLM + FLN
SS1FLM = SS1HM + FLM¥FLM
S2FLM = S2FLM + DLM
SSZFLY = SS2FLM + DLM#DLM
GOTO 130

FMMH = AM2M/AM2H

DMMH = AMZH/AM2M - 1
ATHM ATM + AMZM

ATTM = ATTM + AM2M¥AM2M



130

47

IIM = I
S1FMMH
D1FMMH
S2FMMH
D2MMH
FMML =
DMML =
S1FMML
D1FMML
S2FMML
D2FMML

IF (IK
AX1 =
Sp1 =
cV1 =
AX1Y =
SD1X =
CVIN =
AX2 =
sp2 =
cve =
AX2M
SD2M
cveM
IF(IKL
AX3 =
sp3
cv3
AX3M =
SD2X
CV3M
AX4 =

"

i

1

IM %1
= S1FMMH + FMMH
= DI1FMMH + FMMH¥FMMH
= SZMMH + DMMH
= D2MMH + DMMH¥DMMH
AM2M/AM2L
AM2L/AM2M - 1
S1FMML + FMML
DIMML + FMML¥FMML
S2FMML + DMML
D2MML + DMML#DMML

H .EQ. 0 .OR. (IKH-1) .EQ. 0 )GOTO 47
S1HL/FLOAT (IKH) :
SQRT ((SS1HL - (S1HL¥AX1))/FLOAT(IKH-1))
SD1/AX1
S1HM/FLOAT ( IKH)
SQRT ((SS1HM - (SIHM¥AX1M))/FLOAT(IKH-1))
SD1M/AX1M
S2HL/FLOAT (IKH)
SQRT ((SS1HL - (S2HL¥AX2))/FLOAT(IKH-1))
SD2/AX2
S2HM/FLOAT ( IKH)
SQRT((SS2HM - (S2HM#AX2M))/FLOAT(IKH-1))
SD2M/AX2M
.EQ. 0 .OR. (IKL-1) .EQ. 0 ) GOTO 48
S1FLH/FLOAT (IKL)
SQRT ( (SS1FLH - (S1FLH¥AX2))/FLOAT(IKL-1))
SD3/AX3
S1FLM/FLOAT (IKL)

SQRT((SS1FLM - (S1FLM¥AX3M))/FLOAT(IKL-1))

SD3M/AX3M
S2FLH/FLOAT (IKL)
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1553

1122

51

49

882

880

883

SD4 = SQRT((SS2FLH - (S2FLH¥AX4))/FLOAT(IKL-1))
CV4 = SD4/AX4

AX4M = S2FLM/FLOAT(IKL)

SD4M = SQRT((SSZFLM - (S2ZFLM*AX4M))/FLOAT(IKL-1))
CV4AM = SDAM/AX4M '

IF(IIM .EQ. 0 OR .(IIM-1) .EQ. 0 ) GOTO 49

AX5 = S1FMMH/FLOAT(IIM)

SD5 = SQRT((DIFMMH - (S1FMMH¥AX5))/FLOAT(IIM-1))
CV5 = SD5/AX5

AX5L = S1FMML/FLOAT(IIM)

SD5L = SQRT((DIFMML - (S1FMML%AX5L))/FLOAT(IIM-1))
CV5M = SD5L/AX5L

AX8 = S2FMMH/FLOAT(IIM)

SD6 = SQRT((D2FMMH - (S2FMMH#AX6))/FLOAT(IIM-1))
CV6 = SD6/AX6

1]

AX8L = S2FMML/FLOAT(IIM)
SD6L = SQRT((D2FMML - (S2FMML*AX6L))/FLOAT(IIM-1))
CV6M = SDBL/AXBL

WRITE(3,1553) ALP1,ALP2
FORMAT(10X,’s3332’,F5.2,7,7,F5.2,%722:2327)
WRITE(3,1122)SSN

FORMAT (22X, *SIGMA-SQ = ’,F5.2)
WRITE(3,51)

FORMAT(’ ’)

WRITE(3,882)

FORMAT (2X, >COMPARE WITH HKB ” )
WRITE(3,880)

FORMAT(2X,’ SUM(X) ==> XBAR ==> SUMMSQ(X) ==> SD ==>

WRITE(3,881) S1HL,AX1,SS1HL,SD1,IKH,CV1
WRITE(3,881) S2HL,AX2,SS2HL,SDZ,IKH,CV2
WRITE(3,881) S1HM,AX1M,SS1HM, SD1M,IKH,CV1M
WRITE(3,881) S2HM,AX2M, SS2HM, SD2M, IKH, CV2M
WRITE(3,51)

WRITE(3,883)

FORMAT(2X,” COMPARE WITH LEE 7)

I

==)

Ccv
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881

141 FORMAT(2X,’ SUB-SD = ’,F15.6,’SUB-CV =’,F15.6,2X, AT ATT’

WRITE(3,880)
WRITE(3,881)
WRITE(3,881)
WRITE(3,881)
WRITE(3,881)
WRITE(3,51)
WRITE(3,884)
FORMAT (2X, *
WRITE(3,880)
WRITE(3,881)
WRITE(3,881)
WRITE(3,881)
WRITE(3,881)

FORMAT (2X,F15.6,2X,F15.6,2X,F15.6,2X,F15.6,2X,13,2X,F15.6)

AJJ = JJ

S1FLH, AX3,SS1FLH, SD3, IKL,CV3
S2FLH, AX4,SS2FLH, SD4, IKL,CV4
S1FLM, AX3M, SS1FLM, SD3M, IKL, CV3M
SZFLH,AX4H,SSZFLH,SD4H,IKL,CV4H

COMPARE WITH MCG *)

S1FMMH, AX5,D1FMHH, SD5, IIM, CV5
S2FMMH, AX6,D2FMMH, SD6, I IM, CV6
S1FMML, AX5L,D1FMML, SDSL, I 1M, CV5N
S2FMMH, AX6L, D2FMML, SDBL, I IM, CVEM

SDATH = SQRT((ATTH - (ATH#ATH))/IXKH/(IKH-1))
SDATL = SQRT((ATTL - (ATL*ATL))/IKL/(IKL-1))
SDATM = SQRT((ATTM - (ATM¥ATM))/IKM/(IIM-1))

£
= =
= P>
Lo |
o (G - -
1 1

CVATHM
WRITE(3,141)
WRITE(3,141)
WRITE(3,141)

SDATH/ (ATH/ IKH)
SDATL/ (ATL/IKL)
SDATM/ (ATM/IKM)

SDATH, CVATH, ATH, ATTH
SDATL, CVATL, ATL, ATTL
SDATM, CVATM, ATM, ATTM

*,2X,F15.6,2X,F15.6)

—————— o ————————— -

XBDHL = (SAM2H - SAM2L)/SQRT(AJJ)
XBDHM = (SAM2H - SAM2M)/SQRT(AJJ)
XBDLM = (SAM2L - SAM2M)/SQRT(AJJ)
XBOLS = S10LS/AJJ
XBDH1 = SAMZH/AJJ
XBDL1 = SAM2L/AJJ
{BDM1 = SAMZ2M/AJJ
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SDOLS = SSOLS - (S10LS*S10LS)/AJJ
SDH1 = SSAM2H - (SAM2H*SAM2H)/AJJ
SDL1 = SSAM2L - (SAM2L¥SAMZL)/AJJ
SDM1 = SSAM2M - (SAM2M¥SAMZM)/AJJ
SD011 = SQRT(SDOLS/AJJ-1)

SDH11 = SQRT(SDH1/(AJJ-1)

SDL11 = SQRT(SDL1/(AJJ-1)

SDM11 = SQRT(SDM1/(AJJ-1)

CVO = SDO11/XBOLS

CVH = SDH11/XBDH1

CVL = SDL11/XBDL1

CVM = SDM11/XBDM1

ZDHL = XBDHL/SQRT((SDH1 + SDL1)/(AJJ-1))
ZDHM = XBDHM/SQRT((SDH1 + SDM1)/(AJJ-1))
ZDLM = XBDLM/SQRT((SDL1 + SDM1)/(AJJ-1))
WRITE(3,51)
WRITE(3,887)

887 FORMAT(2X,’ SUM-X , SUMSQ-X ===> HKB,LEE,MCG 7)
WRITE(3,886)SAM2H, SSAM2H, SAM2L, SSAM2L, SAM2ZM, SSAM2M
WRITE(3,51)

WRITE(3,889)

889 FORMAT(2X,’XBAR ==> OLS,HKB,LEE,MCG AND SD ==> OLS,HKD,LEE,MCG *)
WRITE(3,886)XBOLS, XBDH1,XBDL1, XBDM1,5D011,SDH11,5DL11,5DM11
WRITE(3,51)

WRITE(3,809)

809 FORMAT(2X,’CV ==> OLS,HKB,LEE,MCG AND ZD ==> HKB,LEE,MCG’)
WRITE(3,886)CV0,CVH, CVL, CVM, ZDHL, ZDHM, ZDLM

886 FORMAT(2X,7(2X,F15.6))

IF(XBDH1 .LE. XBDL1 .AND. XBDH1 .LE. XBDM1) GOTO 73

IF(XBDL1 .LE. YBDH1 .AND. XBDL1 .LE. XBDM1) GOTO 74

IF(XBDM1 .LE. XBDH1 .AND. XBDM1 .LE. XBDL1) GOTO 75
73 TAN1 = XBDL1/XBDH1-1

TAN11 = TAN1%100

TAN2 = XBDM1/XBDH1-1
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TAN22 = TANZ % 100
TANA = XBDH1/XBDL1
TANB = XBDH1/XBDM1
WRITE(3,703)TAN1, TAN11,TAN2, TAN22, TANA, TANB
703 FORMAT(2X, ’HKB=>NIN’,1X,’(L/H)-1 = ’, F10.6,1X,F10.6,
¥ 1X,” (4/H)-1 =’ ,F10.6, 1X,F10.6,2X, *H/L =’,F10.6,2X
% ,’H/M =7 ,F10.6)
GOTO 737
74 TAN1 = XBDH1/XBDL1 - 1
TAN11 = TAN1#100
TAN2 = XBDM1/XBDL1 - 1
TAN22 = TAN2%100
TANA = XBDL1/XBDH1
TANB = XBDL1/XBDM1
WRITE(3,704) TAN1, TAN2, TAN22, TANA, TANB
704 FORMAT(2X,’LEE=>MIN’,1X,’(H/L)-1 = ’,F10.6,1X,F10.6,
% 1X,” (M/L)-1 = *,F10.6,1X,F10.6,2X, L/H =’,F10.6,2X
% ,’L/M =?,F10.6)
GOTO 737
75 TAN1 = XBDH1/XBDM1 - 1
TAN11 = TAN1¥100
TAN2 = XBDL1/XBDM1 - 1
TAN22 = TAN2¥100
TANA = XBDM1/XBDH1
TANB = XBDM1/XBDL1
WRITE(3,705)TAN1, TAN11, TAN2, TAN22, TANA, TANB
705 FORMAT(2X, ’MCG=>MIN’,1X,’ (H/M)-1 = ’,F10.6,1X,F10.6,
% 1X,” (L/W-1 = *,F10.6,1X,F10.6,2X, M/H =’,F10.6, 2X
¥ ,°M/L =7,F10.6)
737 TANOH1

]

]

= XBDH1/XBOLS - 1
TANOL1 = XBDL1/XBOLS - 1
TANOM1 = XBDM1/XBOLS - 1

TOH = XBOLS/XBDH1
TOL = XBOLS/XBDL1
TOM = XBOLS/XBDM1

1]
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WRITE(3,709) TANOH1,TANOL1,TANOM1, TOH, TOL, TOM
709 FORMAT(2X,’H/0-1 L/0-1 M/0-1 ==>’,3(2X,F8.4),2X,
# ’0/H O/L O/M ==>7,3(2X,F8.4))

139 AJJ = JJ
WRITE(3,8007)AJJ
8007 FORMAT(2X,F4.0,2X,  ITERATION’,/2X,4X,  ~=-=m==== 7)
DO 9900 IH=1,MIX
CMSEH(IH) = TBHKB(IH)/AJJ
CMSEL(IH) = TBLEE(IH)/AJJ
CMSEM(IH) = TBMCG(IH)/AJJ

9900 WRITE(3,1990)CMSEH(IH),CMSEL(IH),CMSEM(IH)
1990 FORMAT (2X, ’CMSEH=",F15.86,2X, ’CMSEL=",F15.6, 2X, *CMSEM=",F15.6)

EMSEH = 0.0
EMSEL = 0.0
EMSEM = 0.0
TMSEH = 0.0
TMSEL = 0.0
TMSEM = 0.0

DO 9901 IH=1,MIX
TMSEH = TMSEH + CMSEH(IH)

TMSEL = TMSEL + CMSEL(IH)
9901 TMSEM = TMSEM + CMSEM(IH)

EMSEH = TMSEH/MIX

EMSEL = TMSEL/MIX

EMSEM = TMSEM/MIX

WRITE(3,8850)

WRITE(3,8050) EMSEH, EMSEL, EMSEM
8050 FORMAT (2X, ’MSE(HKB) =’,F15.6,2X, ’MSE(LEE) =’,F15.6,2X, "MSE(MCG)="
' ¥ ,F15.6)
WRITE(3,8850)
RHL (TMSEL/TMSEH) ¥100
RHM (TMSEM/TMSEH) %100
RLM (TMSEM/TMSEL) %100
ABRHL = ABS((TMSEH - TMSEL)/TMSEL)



8850
9350
3450

9550

9251
9351

9451
87
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ABRHM = ABS((TMSEH - TMSEM)/TMSEM)

ABRLM = ABS((TMSEL - TMSEM)/TMSEM)

WRITE(3,8850)

FORMAT (2X, === === === e e e e e b
WRITE(3,9350)RHL :
FORMAT (10X, ’ (MSEL/MSEH) X100
WRITE(3,3450)RHM

FORMAT (10X, * (MSEM/MSEH) X100
WRITE(3,9550)RLM

FORMAT (10X, ’ (MSEM/MSEL)X100
WRITE(3,8850)
WRITE(3,9251) ABRHL
FORMAT (10X, * ! (H-L) /L!
WRITE(3,9351) ABRHM
FORMAT (10X, * { (H-M) /M!
WRITE(3,9451) ABRLM
FORMAT (10X, * | (L-M) / M}
CONTINUE

STOP

END

Sy E15.8)

’,F15.86)

’,F15.86)

’,F15.86)

1]

’,F15.6)

’,F15.86)



10

ek ook ook ookl ookl ok ol sk ook kR ok
Fkk FUNCTION NORMAL(DMEANSIGMA DISTRIBUTION ¥k
Fhokkckok ookl ook okioicoiolkkolk ok oo ook ok
FUNCTION NORMAL (DMEAN, SIGMA)
REAL NORMAL
COMMON /SEED/IX/SELECT/XK
PI = 3.1415926
IF (KXK.EQ.1) GOTO 10

CALL RAND(IX,IY,YFL)

RONE = YFL
CALL RAND(IX,IY,YFL)
RTWO s YFL

ZONE = SQRT(-2%ALOG(RONE))*COS{2¥PT#RTHO)
ZTWO = SQRT(-2%ALOG(RONE))¥SIN(2¥PI*RTWO)
NORMAL = ZONEXSIGMA + DMEAN

KK = 1
RETURN
NORMAL
KK = 0
RETURN
END :
Bk RO RO ORIk
#¥%¥  FUNCTION WEIBUL(ALPHA1,BETA1) DISTRIBUTION #¥*
BRI R RO RO R
FUNCTION WEIBUL(ALPHA1,BETA1)

COMMON /SEED/IX

CALL RAND(IX,IY,YFL)

WEIBULL = BETA1¥(-ALOG(1.0-YFL))%#¥(1.0/ALPHA1)

ZTWO¥SIGMA + DMEAN

RETURN
END

FHERHERER R R OO R Rk
FE SUBROUTINE RANDOM FH

FOER R R RRR R R
SUBROUTINE RAND(IX,IY,YFL)
IY = IX*65539

194
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IF(IY) 5,6,6
IY = IY + 2147483647 + 1

YFL = IY

YFL = YFL/2147483647

IX = IY

RETURN

END
Bobbokiobobbbopbbioio oo oR oo OOk
Fkk SUBROUTINE INIT Fdok

FRRRR R RO ROk ok

SUBROUTINE INIT

REAL NORMAL,LAMBDA(11)

DOUBLE PRECISION B,X,A,S,XA

COMMON /SEED/IX/DATAXY/X(12,150)/COEFF/B(11)
/CONTA/P,1C/INTERV/XBAR1(11),8G(11)
/SKEWD/ALPHA, BETA |
/SELECT/KK/VARIAVB/N, M, M2
/REGRS/A(11,11),S(12,12)
/EIGEN/ALAMP (5)
/PX/F(5,5)
/RINIT/ALP1,ALP2 ,

DIMENSION XA(10,100),Q(5,5),XP(6,100),QQ(6,100),SSB(6)
LAL(20,20) )

========== GENERRATE INDEPENDENT VARIABLE =======

XBAR1(M2) = 0.0

SG(M2) = 1

DO 100 I=1,M2

DMEAN = XBAR1(I)

SIGMA = SG(I)

DO 100 J=1,N

XA(I,J) = NORMAL(DMEAN,SIGMA)

CONTINUE

ALMIX1 = SQRT(ALP1)

ALMIX2 = SQRT(ALP2)

DO 101 I=1,3
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101

102

88

110

1140

19869

DO 101 J=1,N

X(I,J) = SQRT(I-ALPi)*XA(I,J) + ALP1¥XA(M2,d)

CONTINUE

------------------------------------------
------------------------------------------

& FOR 3 INbEPENDENT VARIABLE
sz PUT C IN DO LOOP 10Z (4 LINES)

------------------------------------------
------------------------------------------

DO 102 I=4,5
DO 102 J=1,N

X(I,J) = SQRT(1-ALP2)*XA(I,J) + ALP2¥XA(M2,I)

CONTINUE

DO 88 I=1,M

DO 88 J=1,N

XP(I,J) = X(I,d)

CALL CORR(XP,M,N,QQ,SSB).

F(I,J) = QQ(I,J)
= QQ(I,J)
QR(I,J)
QR(I,J)

o > |
- ey
- - -
— [ —
" " I

SCB = 0.0
DO 1140 JK=1,M

CALL RAND(IX,IY,YFL)
CB.= 0.0

CB = YFL

SCB = SCB + CB#CB

B(JK) = CB

DO 1969 JM=1,M

B(JM) = B(JN) /SQRT(SCB)

196
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600

140
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150

145

--- FOR MAIN 1 ===) PUT C IN LOOP 120 (7 LINES) ---

DO 120 I=1,M

DO 120 K=1,M

SIK = 0.0

DO 121 J=1,N

SIK = SIK + X (I,J) ¥ X (X,J)

S(I,XK) = SIK

S(K,I) = SIK =

-  FOR MAIN1 ==> CHANGE MATRIX S TO MATRIX QQ =
- ¢ IN LOOP 140 ONLY) -

DO 145 K=1,M

IF (A(K,K)) 145,146,145

WRITE(3,150)

FORMAT(’A(K,K) HAS ZERO ON DIAGONAL )
STOP

CONTINUE

CALL INV(M,%)

197
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0 e e -
CA DO 759 I=1,M :

CA DO 759 J=1,M

CATS9 AI(I, &) = KC¢I.5)

CA CALL LAMP(AI,LAMBDA,M)

CA ALAMP (M) = LAMBDA(1)

C _____ AR i e e e S s e S St e A s, e S i e R s 58
RETURN g
END
c
¢ FR R RO R
c Fhk SUBROUTINE INIT1 : $E K
c

RO OB R R R Rk RO

SUBROUTINE INIT1 '

REAL NORMAL,LAMBDA(11)

DOUBLE PRECISION B,X,A,S,X4

COMMON /SEED/IX/DATAXY/X(12,150)/COEFF/B(11)
/CONTA/P,, IC/INTERV/XBAR1(11) ,SG(11)
/SKEWD/ALPHA, BETA
/SELECT/XK/VARIAVB/N, M, M2
/REGRS/A(11,11),8(12,12)
/EIGEN/ALAMP (5)
/PX/F(5,5)

DIMENSION AI(20,20)

600 DO 140 I=1,M

e N WM e W W

DO 140 J=1,M

ACL,D) = 0.0

ACI,D = F(I,D
140 A(J, ) = F(I,D)

DO 145 K=1,M
IF (A(K,K)) 145,146,145
146 WRITE(3,150)
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150 FORMAT(’ A(K,X) HAS ZERO ON DIANGNAL ”)

145

6759

10

-12

13 E(I)

WA e N W

STOP

CONTINUE

CALL INVS(M,A)

DO 8759 I=1,M

DO 6759 J=1,H

AI(I,Jd) = A(I,d)

CALL LAMP(AI,LAMBDA,M)
ALAMP(M) = LAMBDA(1)
RETURN

END

SRR ROk ook ok ok
Fdk SUBROUTINE DATA - koK
Foblobiobiobiobopkksbiobbiob bbb iobolobobioboRloRok oo oolorEOF
SUBROUTINE DATA
REAL NORMAL
DOUBLE PRECISION B,X,Y,E,T
COMMON /SEED/IX/COEFF/B(11)/DIST/II
/CONTA/P,IC/INTERV/XBAR1(11),5G(11)
/SKEWD/ALPHA, BETA
/DATAXY/X(12,150) /DATAY/Y(150)
/SELECT/KK/VARIAVB/N, M, M2
/0YY/0YY,SSN ¢
DIMENSION E(150),T(150)
GoToO (10,20,30,50),I1

DMEAN = XBAR1(M)
SIGMA = SG(IMD)
SGZ = IC*SIGMA
DO 15 J=1,N

CALL RAND(IX,IY,YFL)

IF (YR 5B 12518513

E(J) = NORMAL (DMEAN, SG2)

GO TO 15

NORMAL (DMEAN, SIGMA)
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15 CONTINUE
GOTO 60
20 DMEAN = 0.0
SIGMA = 1.0
SSN =SIGMA
DO 25 J=1,N
E(J) = NORMAL(DMEAN, SIGHA)
25 CONTINUE
~ GOTO 60
30 SIGMA = SQRT(.70)
DO 35 J=1,N
DMEAN1 = 0.0
SNN = SIGMA%¥2
X(M2,J) = EXP(NORMAL(DMEAN1,SIGMA))
35 CONTINUE
GOTO 60
50 DO 55 J=1,N
X(M2,J) = WEIBUL(ALPHA,BETA)
55 CONTINUE
60 GOTO (100,100,110,110),11
100 DO 108 J=1,N
SUM = 0.0
DO 105 I =1,M
SUM = SUM + X(I,J)¥B(I)
105 CONTINUE
X(M2,J) = SUM +E(D)
- 108 CONTINUE
GOTO 1209
'110 DO 115 J=1,N
115 () = X(M2,0)
1209 OYY = 0.0

DO 879 J=1,N
879 0OYY = OYY + X(M2,J)#X(M2,J)
RETURN

END
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20

25

FRRE R RO R
$ 4k SUBROUTINE INVERSE MATRIX FHk
FRRREERER R R R R
SUBROUTINE INVS(M,A)

DOUBLE PRECISION A(11,11)

DO 20 K=1,M

ACK,K) = -1.0/A(K,K)

DO 5 I=1,M

IF (I-K) 3,5,3

ACILK) = - ACI,K)*ACK,K)

CONTINUE

DO 10 I=1,M

DO 10 J=1,M

IF ((I - K)*%(J - X)) 9,10,9

ACI,I) = ACL,D) = ACT,K)#A(K,J)

CONTINUE

DO 20 J=1,M

IF (J-K) 18,20,18

A(K,J) = -ACK,J)¥A(K,K)

CONTINUE

DO 25 I=1,M

DO 25 J=1,M
A(I,J) = -A(I,d)
RETURN

END

oo RO RO ook ok ok

*¥ok SUBROUTINE LANP Fokk
FposROHck B EoRBoRoRob s RoboBoooE ok ook lokok of
SUBROUTINE LAMP(AI,LAMBDA,M)

REAL LAMBDA(11)

INTEGER SLL,SP1

201

DIMENSION AI(20,20),XLL(20),D(20),2ZLL(11,20),XKLL(11,20),CLL(11),
¥ G(10),SUMMLL(20),YLL(20),X1LL(11,20),XXLL(20),XK1LL(11,20)
DIFF = 0.0
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DO 496 I=1,11
LAMBDA(I) = 0.0
€LL(I) = 0.0
DO 496 J=1,20
YLL(J) = 0.0
XLL(J) 0.0
XXLL(J) = 0.0
ZLL(I,J) = 0.0
XK1LL(I,J) = 0.0

498 X1LL(I,J) = 0.0
NiE =N,

SLL = M-1

EPSI = 0.1

DO 4 I=1,NLL
& XLL(D) =23

DO 6 J=1,NLL

8 D(I) = DCI) + AI(I,J)*XLL(J)
1T ="IT +"%
=€ NORMALIZE THE VECTOR D(I) ==

—————————————————— - - - - -

DO 7 I=1,NLL
7 ZLL(1,1) = D(I)/D(1)

—————————————————————————————————————— - ————————————

==CHECK TO SEE IF REQUIRED ACCURACY HAS BEEN OBTAIN==
DO 8 I=1,NLL

DIFF = XLL(I) - ZLL(1,I)

IF (ABS(DIFF).GT.EPSI*ZLL(1,1)) GOTO 9



10

11

12

14

15

CONTINUE

GOTO 11

DO 10 I=1,NLL

XLL(T) = ZLL(1,I)

IF (IT.GE.50) GOTO 11
GOTO 5
LAMBDA(1)=1./D(1)

DO 100 I=1,SLL
IP1 =1+ 1

DO .12 L=1,SLL

XKLL(IP1,L) = 1

S CALCULATE G(I) VALUES
G(I) = 0.0 '

DO 14 L=1,NLL

G(I) = G(I) + ZLL(I,L)#*2

& CALCULASTE VALUE OF C

IT = 0
DO 99 II=1,I
_SUMLL = 0.0

16
99

17

18
19

DO 16 L=1,NLL ‘

SUMLL = SUMLL + ZLL(II,L)¥XKLL(IP1,L)
CLL(IT) = SUMLL/G(ID)

IT = IT + 1

== CALCULATE SUM OF CX’S
DO 17 L=1,NLL

SUMMLL(L) = 0.0

DO 19 K=1,1I

DO 18 L=1,NLL

YLL(L) = CLL(K)*¥ZLL(K,L)

SUMMLL(L) = SUMMLL(L) + YLL(L)
CONTINUE

THE SMALLEST EIGENVALUE AND ASSOCIATED VECTOR
= ARE NOW SWEEP OUT S EIGENVECTOR

= ASSIGN THE VALUE1 TO XK COMPONENT

1]
"
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21

22

23

24
25

204

DO 20 L=1,NLL
X1LL(IP1,L) = XKLL(IP1,L) - SUMMLL(I)

DO 21 1I=1,NLL
XXLL(II) = 0.0
DO 21 KXK=1,NLL
XXLL(II) = XXLL(II)+AI(II,KK)*X1LL(IP1,KK)

0 S > S > W > e o e ] I - - -~ - - = - - - - -

DO 22 L=1,NLL
XK1LL(IP1,L) = XXLL(L)/XXLL(1)

DO 23 L=1,NLL

DIFF = XKLL(IP1,L) - XK1LL(IP1,L)

IF (ABS(DIFF).GE.EPSI*XK1LL(IP1,L)) GOTO 24
CONTINUE

GOTO 26

D0:55 L=1,NLL

XKLL(IP1,L) = XKi1LL(IP1,L)
IF (IT.GE.50) GOTO 286
GOTO 15
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27
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104

40

DO 27 L=1,NLL
ZLL(IP1,L) = XK1LL(IP1,L)

CONTINUE

WRITE OUT THE EIGENVALUES AND EIGENVECTORS

SP1=SLL+1

DO 104 i=1,SP1

WRITE(3,101) I,LAMBDA(I)

FORMAT (2X, *LAMBDA =’ ,F14.7)

WRITE(3,102)

FORMAT (2X, *THE ASSOIATED EIGENVECTOR COMPONENTS ARE’/)
WRITE(3,103) (ZLL(I,L),L=1,NLL)

FORMAT (13X, F120.9)

CONTINUE

RETURN

END

FokbccboboBoobBooHoRRoR ook ORoOROROR KO

Fhok SUBROUTINE LEAST SQURE(B) *okk

Fobkbolioiokok ok oo ROk Rk oBcRcRckoRol ROk ko

SUBROUTINE OLS(B2,TOT)

DOUBLE PRECISION A4,S,X,B2

COHﬁON /REGRS/A(11,11),5(12,12) /VARIAB/N, M, M2
/DATAXY/X(12,150)

DIMENSION B2(11)

DO 40 J=1,M
S(M2,J) = 0.0
S(M2,J) = X(M2,D)

TOT =1.0
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DO 50 I = 1,M

B2(I) = 0.0

DO 50 J=1,M

B2(I) = B2(I) + A(J,I1)*S(M2,J)
RETURN

END

kool ok ok kR ok ok ook ok ok ook ok ok Sk Sk ok

Fk¥ SUBROUTINE CORRELATION ; ¥k

Fokkkkok RO OO ROR R RO ROk

SUBROUTINE CORR(XP,M,N,QQ,SSB)

COMMON /SDRID/TMEAN(8),SSBRID(8)

DIMENSION XP(8,100),SUM(B),SSA(6),QQ(6,6),
SE(6,6),XX(6,100)

DO 30 I=1,M

SUM(I) = 0.0

DO 30 J=1,N

SUM(I) = SUM(I) + XP(I,I)

DO 40 I=1,M

TMEAN(I) = SUM(I)/N

DO 50 I=1,M

SSA(I) = 0.0

DO 50 J=1,N

XX(I,Jd) = XP(I,J) - TMEAN(I)

DO 60 I=1,M

SSB(I) = 0.0

DO 60 J=1,N

SSA(I) = SSA(I) + XX(I,J)*XX(I,d)

szzssszsssss CALCULATE X’X b SBEZyzETeLs

DO 71.I=1,M

SSB(I} = SQRT(SSA(I)/(N-1))

DO 70 I=1,M

DO 70 K=1,M

SIK = 0.0

DO 80 J=1,N
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SIK = SIK + XX(I,J)*XX(X,J)
SE(I,X) = SIK
SE(K,I) = SIK

DO 90 I=1,M

DO 90 J=1,M

QQR(I,J) = SE(I,J)/SQRT(SSA(I)*¥SSA(J))

RETURN

END

Fkokco ROkl oR ook ookl koo ok ok
*kok SUBROUTINE BOX-COX Fodek

ke ok oRskseoo ook kolololkokioRkoR ook

SUBROUTINE BOXCOX(B,FL1)

DOUBLE PRECISION Y1,Y,B,SLG,BMEST

COMMON /DATAY/Y(150)/TRANSF/Y1(150),FL(3),ST,FIN
/VARIAB/N,M,M2/STORE/BMEST(3,11) .
/DATXY1/X1(12,150)

DIMENSION B(11)

DO 30 J=1,N

IF (Y(J)) 20,20,30

WRITE(3,25)

207

FORMAT(’Y(J) IS NEGATIVE OR ZERO ==> RETURN TO MAIN PROGRAM )

RETURN

CONTINUE

SLG = 0.0

DO 50 J=1,N

SLG = SLG + DLOG(Y{(J))
SLG = SLG/N

G = DEXP(SLG)

DO 60 J=1,N

Y1dd) = Y(I) /G

ST = -1.0

FIN = 2.0

FD = 0.5

MR = 16

CALL SUMSQ(ST,SSE1,1)
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CALL SUMSQ(FD,SSE2,2)
CALL SUMSQ(FIN,SSE2,3)

IF(SSE1.LE.SSE2 .AND. SSE1.LE.SSE3) GOTO 71
IF (SSE2.LE.SSE1 .AND. SSE2.LE.SSE3) GOTO 72
IF(SSE3.LE.SSE1 .AND. SSE3.LE.SSE2) GOTO 73
FM = ST

SSE2 = SSE1

DO 80 I=1,M

BMEST(2,1) = BMEST(1,I)

GOTO 100

FM = FD

GOTO 100

FM = FIN

SSE2 = SSE3

DO 90 I=1,M

BMEST(2,1) = BMEST(3,1)

IF (MR .EQ. 1) GOTO 110

MR = MR/2
ST = FM - MR¥0.1
FD =FH

FIN = FM + MR¥0.1
CALL SUMSQ(ST,SSE1,1)
CALL SUMSQ(FIN,SSE3,3)
GOTO 70 '

FL1 = FX

DO 120 I=1,X

B(I) = BNEST(2,D)
FL(1) = FX

RETURN

END
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¥k : SUBROUTINE SUMSQ ko
Frkkk bbbkl ook oo RO R ROk R R R
SUBROUTINE SUMSQ(FLX, SSE,X)

DOUBLE PRECISION Y1,4,S,Y,B,X1,BMEST,A1,S1,Z,ZZ, FL
COMMON /REGRS/A(11,11),S(12,12)

¥ /REGES1/A1(11,11),51(12,12)

¥ /DATXY1/X1(12,150) /DATAY/Y(150) /STORE/BMEST(3,11)
¥ /TRANSF/Y1(150),FL(3),ST,FIN, VARIAB/N, M, M2
DIMENSION B(11),Z(11)

FL(1) = FLX

CALL BCOX(FL(1),1)
CALL OLS1(B)

DO 15 I=1,M
15 Z(I) = S(M2,I)
ZZ = S(M2,M2)
DO 80 I=1,H
80 BMEST(K,I) = B(ID)
SSR = 0.0
DO 90 I=1,M
90 SSR = SSR + B(I)*Z(I)
SSE = ZZ - SSR
SSE = SSE/FLOAT(N)
RETURN
END
*****************************************************
¥k SUBROUTINE BCOX ¥k

kbbb OO ORI Rk
SUBROUTINE BCOX(FLI,K)
DOUBLE PRECISION Y1,X1,FL,FLI
COMMON /DATXY1/X1(12,150)

¥ /TRANSF/Y1(150),FL(3),ST,FIN/VARIAB/N, M, M2
FL(X) = FLI
IF (DABS(FL(K))) 15,5,15

3 DO 10 I=1,N
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X1(M2,I) = DLOG(Y1(I))

GOTO 30

DO 20 I=1,N

X1(M2,I) = ((YI(D)¥¥FL(K)) - 1.0)/FL(K)

RETURN

END .
*****************************************************
Fokok SUBROUTINE OLS *kk

T T e T T T T TR TR TR
SUBROUTINE OLS1(B2)

DOUBLE PRECISION A,S,X1,B2

COMMON /REGRS/A(11,11),S(12,12)/VARIAB/N, M, M2
* /DATXY1/X1(12,150)

DIMENSION B2(11)

DO 20 I=1,M2

SIK = 0.0

DO 10 J=1,N

SIK = SIK + X1(I,J)*X1(M2,J)

S(M2,I) = SIK

DO 50 I=1,M

B2(I) = 0.0

DO 50 J=1,M

B2(I) = B2(I) + A(J,T)¥S(M2,])

RETUEN

END

FRERER OO RO R KRR
¥ SUBROUTINE SHAPWK FHh

bbbk ook Rk Rk ok kbR sk kb ook ok ok k ok
SUBROUTINE SHAPWK(N,Y,ITEST)

DOUBLE PRECISION A2,SW,Y,S2

COMMON /TABLE/A2(150),SW(2)

DIMENSION Y(150),S(11)

CALL RANK(N,Y)

YSUM = 0.0

YSS = 0.0

210



20

30

40
50

10

DO 5 I=1,N
YSUM = YSUM + Y(D)

YSS = ¥SS + Y(D#Y(D)

S2 = YSS - (YSUMAYSUM/FLOAT(N))
K = INT(FLOAT(N/2)

B = 0.0

DO 20 I=1,K

I RE T .3

B = B + A2(J)¥(Y(JD) - Y(I))

W = B¥B/S2

IF (W-SW(3)) 30,30,40

ITEST = 2

GOTO 50

ITEST = 1

RETURN

END

o kBBsEoBRcBEOORIoRobOk R Rkl ok ook kR Kk ¥ ¥
Fkk SUBROUTINE RANK *¥ok

bbbk ok RR Rk ok kok ok ok ko kok
SUBROUTINE RANK(N,X)

DOUBLE PRECISION X,T

DIMENSION X(150)

N1 =N-1
DO 10 I=1,N1
IT =1+ 1

DO 10 K=II,N
IF (X(I) .LE. X(K)) GOTO 10

T = X(ID
X(I) = X(K)
X(K) =T
CONTINUE
RETURN

END
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FHEREEE RO R R

o SUBROUTINE RID o

FHEE R R R R

SUBROUTINE RID

DOUBLE PRECISION A,S,B,X,B2,B1

COMMON /SEED/IX/DATAXY/X(12,150)/COEFF/B(11)

/CONTA/P, 1C/INTERV/XBAR1(11),5G(11)

/SKEWD/ALPHA/BETA

/SELECT/KK/VARIAVB/N, M, M2

/REGRS/A(11,11),5(12,12)

/EIGEN/ALAMP (5)

/PX/F(5,5)

/DIST/11

/CON/C, SS, TOT, TRACE, BBRID

/SDRID/TMEAN(6) , SSBRID(B).

/SUMDB/SQDIFB(6)

/RCOEFF/BRCHA(6)

FOR MAIN1 ==> DELETE CA FROM COL.1 AND
ADD TSEB,TSEBR,IN /CON/

/UYY/OYY, SSN

/RIDMSE/TRVAB(1)

DIMENSION XP(6,100),QQ(6,100),SSB(6),VA(5,5),BRID(5,1),

I
[l
I
1]

B2(11),B1(11),T(150),A2(150) ,MSE(5),TX(5,5)

== FOR MAIN1 ==> DELETE CA FROM COL.1 ==
»ZA(5,5),VB(5,5),QA(5,5),VV(5,5),ZK(5,5),TS(5,1)
s W(5,5),VAZ(5,5)

MIX =M + 1

B(MIX) = 0.0

DO 2100 I=1,M
DO 2100 J=1,M
IF (I-J) 2200,2300,2200

2200 TX(I,J) = F(I,D)

GOTO 2100

2300 TX(I,J) = F(I,J) + C
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CONTINUE

DO 2500 I=1,M

DO 2500 J=1,M

A(I,J) = TX(I,Jd)

CALL INVS(M,A)

DO 4000 I=1,M

BBRID(I,1) = 0.0

BRID(I,1) = 0.0

DO 4000 K=1,M

BRID(I,1) = BRID(I,i) + A(I,K)¥S(M2,X)

DO 4200 IX=1,M

BBRID = BBRID + BRID(IK,1)*BRID(IK,1)

BRCHA(IK) = (BRID(IK,I)*SSBRID(MIX))/SSERID(IK)
CONTINUE

TAFTER = 0.0

DO 8200 IK=1,M

TAFTER = TAFTER + BRCHA(IK)¥TMEAN(IX)

BRCHA (MIX) = TMEAN(MIX) - TAFTER
............... FINE MSE 5,4, 0% s 000 & wid oS8 SR o
DO 8400 IK=1,MIX

SQDIFB(IK) = 0.0
SQDIFB(IK) = (BRCHA(IK) - B(IK))%*2
RETURN

- END
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